Lecture 11: Applications of the chain rule

Tuesday, February 7, 2017 12:33 PM

1.
$$\frac{1}{h_{Y}} e^{xe^{x}} = e^{xe^{x}} \frac{1}{h_{Y}} xe^{x} = e^{xe^{x}} \left(\left[\frac{1}{h_{Y}} x \right]e^{x} + x \frac{1}{h_{Y}}e^{x} \right) \right)$$

$$\frac{1}{h_{Y}} \left[\frac{1}{(q(x))} = \frac{1}{(q(x))} \cdot \frac{1}{q(x)} \right]e^{(x)} = e^{xe^{x}} \left(1 \cdot e^{x} + x e^{x} \right)$$

$$\frac{1}{h_{Y}} \left[\frac{1}{(q(x))} = \frac{1}{(q(x))} \cdot \frac{1}{q(x)} \right]e^{(x)} + \sin x^{2} \left(\frac{1}{dx} e^{x} \right)$$

$$= \left(\cos(x^{2}) \cdot \frac{1}{h_{X}} x^{2} \right) e^{x} + (\sin x^{2}) e^{x}$$

$$\frac{1}{(e^{x} 2 + \cos x^{2})} + e^{x} \sin x^{2}}{e^{x} 2 + \cos x^{2}} + e^{x} \sin x^{2}}$$
3.
$$\frac{1}{h_{Y}} \sin(\cos(e^{e^{x}})) = \cos(\cos(e^{e^{x}})) \cdot \frac{1}{h_{X}} \cos(e^{e^{x}})$$

$$= \cos(\cos(e^{e^{x}})) \cdot (-\sin(e^{e^{x}})) \cdot \frac{1}{h_{X}} e^{e^{x}}$$

$$= \left(\cos(\cos(e^{e^{x}})) \cdot (-\sin(e^{e^{x}})) \cdot \frac{1}{h_{X}} e^{e^{x}} \right)$$

$$= \cos(\sin(\sin(\sin(\sin e^{x}))) \cdot \frac{1}{h_{X}} \sin(\sin(\sin(\sin e^{x})))$$

$$= \cos(\sin(\sin(\sin(\sin e^{x}))) \cdot \frac{1}{h_{X}} \sin(\sin(\sin(e^{x})) \cdot \frac{1}{h_{X}} \sin(\sin(\sin e^{x})))$$

$$= \cos(\sin(\sin(\sin(\sin e^{x}))) \cdot \frac{1}{h_{X}} \sin(\sin(\sin(e^{x})) \cdot \frac{1}{h_{X}} \sin(\sin(\sin e^{x})))$$

$$= \cos(\sin(\sin(\sin e^{x}))) \cdot \frac{1}{h_{X}} \sin(\sin(e^{x})) \cdot \frac{1}{h_{X}} \sin(\sin(e^{x}))$$

cosex.dex

5.
$$\frac{d}{dy} 3x^{2} - 2\sqrt{1-x} + e^{2x}$$

$$\frac{d}{dy} 3x^{2} - 2(1-x)^{1/2} + e^{2x}$$

$$= \frac{d}{dx}(3x^{2}) - 2\frac{d}{dx}(1-x)^{1/2} + \frac{d}{dx}e^{2x}$$

$$= \frac{d}{dx}(3x^{2}) - 2\frac{d}{dx}(1-x)^{1/2} + \frac{d}{dx}e^{2x}$$

$$= \frac{d}{dx}(-x)^{1/2}(-1) + 2e^{2x}$$

$$= \frac{d}{dx}(1+\sin x)^{2} = 6(1+\sin x)^{2} \cdot \frac{d}{dx}(1+\sin x)$$

$$= \frac{d}{dx}(1+\sin x)^{2} = 6(1+\sin x)^{2} \cdot \frac{d}{dx}(1+\sin x)$$

$$= \frac{d}{dx}(1+\sin x)^{2} = \cos(1-x^{2}) \cdot (-2x)$$

$$= \frac{d}{dx} \sin x$$

$$= \frac{d}{dx} \sin x$$

$$= \frac{d}{dx}(1-x^{2}) = \cos(1-x^{2}) \cdot (-2x)$$

$$= \frac{d}{dx} \cos x$$

$$= \frac{d}{dx} \cos (1-\sqrt{2+e^{x}}) = -\sin((1-\sqrt{2+e^{x}}) \cdot \frac{d}{dx}(1-\sqrt{2+e^{x}})^{1/2})$$

$$= \frac{d}{dx} \cos x$$

$$= \frac{d}{dx} \cos (1-\sqrt{2+e^{x}}) = -\sin((1-\sqrt{2+e^{x}}) \cdot \frac{d}{dx}(1-\sqrt{2+e^{x}})^{1/2})$$

$$= \frac{d}{dx} \cos x$$

$$= \frac{d}{dx$$

Ax

$$\int dx = \int d$$

$$\frac{d}{dt} x(t)^{2} = 2(x(t)) \cdot \frac{dx}{dt}$$

$$\frac{d}{dt} x(t)^{2} = 2(x(t)) \cdot \frac{dx}{dt}$$

$$\frac{d}{dt} = -\frac{2y}{2x}$$

$$\frac{d}{2x}$$

$$= -\frac{y}{4x} \frac{dy}{dt}$$

$$\frac{d}{dt} = -\frac{y}{2x} \frac{dy}{dt}$$

$$\frac{d}{dt} = -\frac{y}{x} \frac{dy}{dt}$$

$$\frac{d}{dt} = -$$

calc1 Page 4

"Implicit differentiation / Related rates"